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CENTUM QUESTION PAPER -3
TIME:- 3 HRS MAX MARKS :- 100

PART -1

Answer all the 14 questionsoimearg g 14 Cadela@EriEh LB waflsaan 14x1 =14

) | syers) 13- 6lLé GEmmEUTEDT LIS 61600186} eredTm 2_meliledT efiGaaLonen &)
() {2,3,5,7} (&) {2,3,5,7,11} (&) {4,9,25,49,121} () {1,4,9,25,49,121}

N
b
-\J)

The range of the relation R = {(x,2°) |z is a prime number less than 13} is

(A) {2,3,5,7} (B) {2,3,5,7,11}
(C) {4,9,25,49,121} (D) {1,4,9,25,49,121}

2./\ 65 whmid 117-ulledr 15.0UT.eu-emeu 65m—117 eredrm cuigelled erupgdBUNEI. m-ufledt S
(@) 4 (2) 2 @)1 ()3
If the HCF of 65 and 117 is expressible in the form of 65m — 117, then the value of m is
(A)4 (B) 2 ()1 (D)3

3) r+y—-32=-6, —-Ty+7:=7, 3z=9 ot @GN Siiey

@r=Ly=22=3 (&) z=-Ly=22=3
8) r=-1Ly=-22=3 (") z=1Ly=-22=3
The solution of the system z +y—32=—-6, —Ty+7z=7, 32=9 is
(A)z=1Ly=22=3 B) z=-1Ly=22=3

(C) r=-1lLy=-2,2=3 D) z=1Ly=-22=3

17") Biyevaeir HMID HlewT&H6T FLo 6T600TE00 1B em & Ulled Qeve0nd Sievof]
(21) cwemeoei L Siewof] (=) e\g6u6us Stevof]
(@) 6810 Si600f] (F) 2160& 16001

If number of columns and rows are not equal in a matrix then it is said to be a

(A) diagonal matrix (B) rectangular matrix
(C*) square matrix (D) identity matrix
3 3
5) If —4— is added with ——b—, then the new expression is
a—>b b—ua
(A) @ +ab+b  (B) @ —ab+ b (C) a4 b (D) a = b
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3 3

RPN

a—>b b—a

A @ vab+ b B d—ab+ b’ Q) a4 b D) o —b

06 Ful L, Sl s@W yHu Camemey

6) QBNGLSSILLL UL dled, PR 2660818, QI — 2166185, P
ZPAQ 907, PA-6 @8l wppd QA4 — S 6s8 ereofled 1%
ZPQR -p& snetors.

(&) 80° (@) 8H° (®) 75° (/) 90° 7 0
p

In the given figure, PR=26cm, QR =24cm, 1<
ZPAQ =90°, PA=6 cm and QA =8 cm. Find ZPQR

‘ (A) 80° (B) 85° (C) 75° (D) 90° R Q
T7)  (0.0) wipid (-8.8) et Letelsevar Bevaibeib Gonliahes OemicssTa Gam i
FMiiey

(&) -1 () 1 @) % (7) -8

The slope of the line which is perpendicular to a line joining the points (0.0) and
(-8.8) is .
(A)-1 (B) 1 © = (D) -8

R

g) Y 216816> siemiowyd yeefl A -uledr QG581 OsTemoey S Hmib X siEdlér siemowtd
yerefl B-uller dlemLiol L & agnemevey 5 ereufled, AB eredtm CmiéGaL g6 sweTunh
(&) 8r+5y =10 (&) 8x—-5Hy=40 (@) z2=38 () y =5

Vo
If A is a point on the Y axis whose ordinate is 8 and B is a point on the Y axis whose
abscissae is 5 then the equation of the line A B is

(A) 82+ 5y = 40 (B) 8x— 5y = 40 (C) x=38 (D) y=>5
9) (sina + coseca)’ + (cosa + seca) =k + tan’ a + cot’ a erefléd k —er oAy
(&) 9 (2) 7 &) 5 (FF) 3
If (sina + coseca)® + (cosa + seca)’ = k + tan® a + cot* a , then the value of k is
equal to
(A)9Y (B) 7 (C)5 (D)3
10)  9tan’0 — 9sec? -
(A) 1 B) 0 )9 D) 9

] 9 61 2_(hemenuiledT 21T G600 LOMHMTLOE) SigHedT ST HeWHLI LMHILINDS 6\SMeToT(h Ll ©_(Hemer
2_(HeunbsLLGANE) LSl HMID WiHenal 2_meneataerfler Her siereymerler eSldid0
(o) 1:2 (o) 1:4 (®) 1:6 (FF) 1:8
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”) It the radius of the base of a right circular cylinder is halved keeping the same height,
then the ratio of the volume of the cylinder thus obtained to the volume of original

cylinder is

(A) 1:2 (B) 1:4 (C') 1:6 (D) 1:8

\3) QU AOTHEHMET S H 60T WO GHGHLI LITLIL| Sigh60T T HEGDIHL I UTHBGHEOT DL RISTGID
(=) T () 1a (@) 3 (FF) 27
T'he total surface area of a hemi-sphere is how much times the square of its radius.
(A)n (B) 4a (C') 3a (D)2

1_3) 100 soey) yerefleeafleor sansfl 40 wHmIb S L eleod®id 3 erevfled, Hueyseflet eurléaihimefler
Fo (bSHEOTEDTE)|
(81) 40000 (%) 160900 (&) 160000 (FF) 30000

The mean of 100 observations is 40 and their standard deviation is 3. The sum of
squares of all observations is

(A) 40000 (B) 160900 (C) 160000 (D) 30000
] LQ QBNLSBILLL emeuserled 618y HeunneTs)?
(&) P(A) > 1 (&) 0<P(A) <1 (&) P(o)=0 (FF) P(A) + P(1) =1
Which of the following is incorrect?
(A) P(4)>1 (B) 0<P(4) <1 (C) P(p)=0 (D) P(4) + P(4) =1
PART -l
Answer any 10 questions. Question No.28 is compulsory. 10x2=20

)5? R eaetrm & 2 mey {(.r. y)/y=a+3 =€ {0,L23, Lf')}} 0TS OHM(bSSHLILIL (beTerg).
856 LHILSSBUD HFFHHMBWLD &6TuTL M&.
A Relation R is given by the set {(;r. y)/y=x+3. xe {0,123 1,5}}. Determine its
domain and range.

!b) f(r) = 20+5 eretnd. o+ = 0 erevfler, — -80& SHTCO0IS.
x

flo +2) [(2)

£

Let f(r) =2x+5.1f » ~» 0 then find -

,7) 34k 18— Lo Dl o+ 1 eredtuemen b Snl (b OB [Feuflemsulied 2 etaredr erevfled. A—ulledr
WwHIILE &Metors.

If 34k 18—k Ok+1 arein A.P. then find &.

L3927 ereb1p 0Lh&SS L [euflensuliedn (pHed S & miliserfledt
}&) &n.(bBH6D &HIT600T16.

Find the 8" term of the G.P. 9, 3, 1,...
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. s . L2y G-’
1) FHSSHS Simplify 5 20y
) .21 L . )
20) @ eT6vor HNID SiHedt S dweublstn eilgSlunan — erefled. b 616toremevors
. 0)
HITEO0TH

. e ' . .21
It the ditference between a number and its reciprocal is =, find the number.
2

N
2 A NAE eTeufled, — A-ulledr Hlewy Hired NHM Sieoollemuid sHmetors

V35
NC—

If 4| 5 2| then find the transpose of —A.

21) @ welsear 18 15 HsBs agarm Wertery 24 15 L &8s OFADTET. ST 58
Hemeouledl b g S6uT SHEHGID GHTENEEMEUS HTETOrSH.?

A man goes 18 m due east and then 24 m due north. Find the distance of his current
position from the starting point?

232) 6&sMbLessUULL Yetaflsener Qenentis@o Gnis@asnl iqeir smilemneusd BT,
(i) [5.45 | wipud> eyHineira (ii) (sinf.— cos6) wHDUD (— sin b.cos )
Find the slope of a line joining the points
(1) (3\/5) with the origin

28 Prove Blepibaeybd.
(ii) 080 = sech — tand
I+ sin6
15? If the circumference of a conical wooden piece is 484 cm then find its volume when
its height is 105 cm.
484 61615 ammereyeten b LI &Han (DINledT 2 _wigd 105 61 5 erevtle, sn DLl B60T DieTemald
&IT6001.

2—6) wWsed 21 Buied eredorsefledr Hli L e60&H®HHewBHEH & IT6T0T .
Find the standard deviation of first 21 natural numbers.

27 )6 Slevoios Gsnend wHmud Hedoio 2w &EGanenHdHledl OWONSHHUI LI SLONEDIBHTEH
Bms©neTned SieunHmler &1 sieneybefledr ldiHD 3\/3 4 ereor Hlemudl.
A solid sphere and a solid hemisphere have equal total surface area. Prove that the
ratio of their volume is 33 : 1.
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)-8) STy 12 eeim GrpisGamnnme Sewevonunseyd (6.1) eredtm
yeefleud agereugioneot Qo sGoH 16T FLOGITUNL 6WL & SIT66016.

Find the equation of a straight line which is parallel to the line 3r

Ty — 12
and passing through the point (6.1).

PART - Il

Answer any 10 questions. Question No.42 is compulsory. 10x5=50

D_q) /A= DB eeim &niUmEOTH J(x) L) - 1. eretT  eueMIWMIGSUILGEDS. k&,

A ={2.16.10.12}, B = {0.1,2,1.5.9} 248 8mé60@ung sy f-g NeTeurbid wenmaefle
&Nés

(1) euflewss Gemgaefletr evond (ii) si'Levemsvor  (iii) Subysb&n uL  (iv) euemguLD

Let f: A — B be a function defined by f(x) = é» 1. where A={2 1.6.10.12},
B = {0.1.2,4,5.9} . Represent f by

(i) set of ordered pairs (ii) a table (iii) an arrow diagram (iv) a graph

3@ fla)=3x+1, g(x) =2+ 3 sdwemeu b sniyser. GIDd
gffix) = fgg(x) erenfled T —g06 SHnevors.

Find zif gff(x) = fgg(x), given f(x)= 3z +1 and g(x) = r + 3.

3Y) 300-6@ib 600-&E1> QL G T-46 QUGLIGbID 6T 58] SiLeb Tesoraafle
8oL (bHED SHTEOOTE.

Find the sum of all natural numbers between 300 and 600 which are
divisible by 7.

2 ., o« 2
+3a —41 a +2a-—8
PSP R e e
3

- —— ereufled. 12y —60T S USH HTeT0TS.
3a” 20" —2a — 4

) , .
N a’ + 3a—41 a4+ 2a—8 L I
Ifr - ———— and y — — find the value of +7y °.
30 3 20 —2a — 4

33) @ Gumhe Y0815 apneneeneus Siner Geumpdled L bADGH et Geusd 15 &/
wewtfl aigleHGeH0UTLT6 . Lwevol Grub 30 FEWL e Gewndmg ereofled. GuhbHeor

GousdHemngd &600&HE(He

A bus covers a distance of 90 km at a uniform speed. Had the speed been 15 km/hour

more it would have taken 30 minutes less for the journey. Find the original speed of
the bus.

12 10 ) () . L
3)_9 A ‘l 'S)’ B l { - l , | P ‘ eteufleb, &SPpdeevureupemm  HlebLildeeywD.
« )

1 <2 <1 (@} 2 (@] St that
> : , b , 7 Shnhow <
l.et A 1 -3 / 1 [ 1 «>
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=) Sansmen Gammio (Pythagoras Theorem)

P( 1 -4), Qb,c) wpmitd R(H, 1) eredruest Gr GmisHGa iq e D
yeneflsen ererds. Gogid 20 ¢ — 4 erevfled, b wHMID ¢ —ulN6dT WHIIL HiT6soTs.

20)

It the points P(-— L, 1), Q(h,¢) and R(5. - 1) are collinear and if 24 ¢ «
then tind the values of b and c.
27) OINEDO6] HTENID FSHIHTHewHU LIIEOTLDbSSMDeD, (2. 1), (1.0), (3.3) wHouo (
TETUET QeDTTTHTHH 60T (LPew6vTll LeTaf&6lT 61601 SN (h.

o
3.2)

o
3.2)

Without using distance formula, show that the points (—2.—1), (1.0), (3.3)and |
are vertices of a parallelogram.

RO somsm] eftébsdden o FAuledipha HOTHT UssHsefld 2 stem Greoith
sUueseT 30° wopmp 60° BnHeEGHTeTdHHD UMTSELILGEDTDET. &H60Mh &S]
fetd&H5He0r 2 wph h 5. Q@ sLUOSET WHNID SeRGT eleTébssEler SiqliLGS)
&wener BT CHIGHM I SlemwdlaTne ereofled, BTettih SLILISEHGHES QemL LUl L

1B TEMEDEY lTh S erenr HlemLNGe.
3

From the top of a lighthouse, the angle of depression of two ships on the opposite
sides of it are observed to be 30° and 60°. If the height of the lighthouse is 7 meters
and the line joining the ships passes through the foot of the lighthouse, show that the

distance between the ships is Tz m.
3

3c9 6 6§18 gmb wHOID 15 OF5 2 WMD OHTERIL 6 2 [HeweT 6ug 6Ll

unsSod weusions uefléam(p (Ice-cream) 2_dteng) Sibsll L& pTeTS), S iDL WOHMID
s1015GsNeND eneuihs augeusHHed ETUUiLGEADS. snbifiedr © Wb 9 6§85 wHmID SHTd
3 61815 erevfled, UTHHTHHL 2 _6ien Lievfldsnemip HITLIL 6THHEMEDTSH o lDLBET BHeweu?

A right circular cylindrical container of base radius 6 cm and height 15 ¢cm
is full of ice cream. The ice cream is to be filled in cones of height 9 cm and base radius 3
cin, having a hemispherical cap. Find the number of cones needed to empty the container.
Bgeor eredrm GuMplufed wrevoreu i £ hememuiledl UMD &nlDLSET 2 _elTemeum)
wnlifl evrenn 2 _peunddleory. wndliflulieor Bend 12 .5 wHMHID el LD 3 5.5 Y&Wb.
6peueIeUN(h SnlDIfledr 2 WTud 2 6515 GheSNeTTed BHrHedr 2 heundsul rHifluleor
EHEOTHATE0EUE GIT660TS
Nathan, an engineering student was asked to make a model shaped like a cylinder
with two cones attached at its two ends. The diameter of the model is 3 cm and its
length is 12 cm. If each cone has a height of 2 cm, find the volume of the model that
Nathan made.
6(H emuulleb H Aeuliy [HIML) LHGISHEBLD, 6 GleueTemar HINLI Lith 8IS EBLD, | LIGemd HIDLILIK SIS EMHLD
8 &@ply BHDUUbGGEHD £ dieter soeunii] wenpuled soLUUIOIBHEH QB LbHSI
TbEHEILGANG. b1 LHE) (1) GleueTenel (ii) GEHLL| SHebevs deully (ill) CleueTememLINS
£6D60MNLED 1V ) CI6UETEMEITILITEEYLD, SIHLILIN &6 LDEDNLDED IHLILGM SITEOT [HlLDHH6Y & ewerTd

BHIT60015.
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LJJ) A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is drawn
at random from the bag. Find the probability that the ball drawn is

(i) white (ii) black or red

(iii) not white (iv) neither white nor black

10Gg.f. 1708, 18 Gs.f, -, 30 Qa.f ySwameuiemn wpmnlu Uss Jysmaisares
Gare 15 saésgmmsails s sjeraiseflen s (e srems.

Find the total volume of 15 cubes whose edges are 16¢m, 17cm, 18cm, -+, 30cm

respectively.
PART - IV
Answer all the questions 2x8=16
L3 ( a) QBNGLHEILLL (W&CsTeDd POR -6& 688 LssHsefler

d

UL ‘—1 6TE0T SAHWIOMM| W  CUGACUTSHS (PHEEHTETID CUDTS.

Construct a triangle similar to a given triangle PQR with

its sides equal to 11 of the corresponding sides of the triangle PQR

-

(scale factor ‘—1 >1)

OR
L3Ch) 5 6.8 yTpeTer euL SHleir emwwSHOlmHs 10 6515 asmeneeligierar Letafluledimibs)
Q' LHHNGS 68n1bBaHN(b&H6T euemnTeyD. G AT(hBBML L 6T Herrhisenerd &eurdbslhe.

Draw the two tangents from a point which is 10 cm away from the centre of a circle
of radius 5 cm. Also, measure the lengths of the tangents.

L;),\(o\). y 1" hr -6 -uler euemgULLD GueDIHEl, AHEWEUI LweTLGSE »° - Hr 1L 0
GT60TM ELDETUNL 6D & S H&HeyLD.
Draw the graph of 4y — +*  5¢ 6 and hence solve &« Hr 1L 0
OR

L\'L\ ( b). The following table shows the data about the number ot pipes and the time taken to till
the same tank.

2 3 6 9

45 30 15 10

Draw the graph for the above data and hence
(i) find the time taken to fill the tank when five pipes are used

(ii) Find the number of pipes when the time is 9 minutes.
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e asnigeow Hriud GCoHeneunmeor GWPMGHEle  6TeiTemtllGEmmHID Demey  6TbSHEISH
QBMeTEBD GBI NETEUIHL i L EUEHETITUIED C1BMbSHGBLILIL (b6TeTg)

A

2 3 6 9
45 30 15 10

GHSTENID HTEYSEHSE GUEDTLILLD 6UeDTHE,
(i) 5 @Pmusemer LWETLILSSH 60T, ASML LG [HTDL 6T(bSSIs aanetenlIuL L GhI &H6maé HM6t0T6

(il) 9 PO fusefied S 1q HITbIN6TIE, LWETUGLSSULL L GWrisefler e6ooreoofléemnsemuid
SHTE00TS.

M.A.SENTHIL KUMARAN

B.T. ASST IN MATHS
V.M.G.H.S. SCHOOL
PERIYAKULAM 625601
THENI DT
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